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DQXJHUDK�1\D� \DQJ� PHOLPSDK�� NHPXUDKDQ� GDQ� NDVLK� VHWLD� \DQJ� EHVDU� DNKLUQ\D�
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PHQ\HOHVDLNDQ� SHQGLGLNDQ� GDQ�PHPSHUROHK� JHODU� 6DUMDQD� SDGD� )DNXOWDV� 7HNQLN�

(OHNWUR�8QLYHUVLWDV�7HONRP��

3HQXOLV�PHQ\DGDUL�EDKZD�SDGD�SHPEXDWDQ�7XJDV�$NKLU�LQL�PDVLK�EDQ\DN�

NHNXUDQJDQ�EDLN�SDGD�SHUDQFDQJDQ�VLVWHP�PDXSXQ�SDGD�SHQXOLVDQ�EXNX�GDQ�PDVLK�

MDXK� GDUL� VHPSXUQD�� 2OHK� NDUHQD� LWX�� NULWLN� GDQ� VDUDQ� \DQJ� PHPEDQJXQ� GDUL�

SHPEDFD�VDQJDW�GLKDUDSNDQ�GDQ�VHPRJD�WXJDV�DNKLU�LQL�GDSDW�EHUPDQIDDW�EDJL�NLWD�

VHPXD���

'HQJDQ�VHJDOD�NHUHQGDKDQ�KDWL��SHQXOLV�EHUKDUDS�VHPRJD�7XJDV�$NKLU�LQL�

GDSDW�GLNHPEDQJNDQ�NH� DUDK� \DQJ� OHELK�EDLN�GDQ�EHUPDQIDDW�EDJL�SHPEDFD�GDQ�

SHQXOLV��VHUWD�EDJL�GXQLD�SHQGLGLNDQ���
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